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Section 1 - Reasoning

No. of Questions: 50

1) On the top of a building, flags of different countries furl. The Mexican flag is placed 12th from the
left and 13th from the right. Find the total number of flags.

A) 13
B) 16
C) 24
D) 28

1) T Ha & 2§ W, farfdiemT eif & S eR¥e &1 ot dfFaan ol east STl ok ¥ 12 & ofR art
3R Y 13 F T W & | FSH B FEAT b1 Yl AL 2

A) 13
B) 16
C)24
D) 28

2) Select the option that will make the second pair analogous to the first pair.
Fuel Gauge : Fuel levels :: Anemometer : ?

A) Wind
B) Ink

C) Density
D) Volume

2) 3 faehed 1Y &Y il GaLY SIS Pl Tgell SiTS! B FeA®d S|
T IS : g Aae 1 TR : 2

A) s
B) g%
C) sfad
D) ateerm
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3) What is the next term in the number series given below?
32, 31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C) 33
D) 35

3) 2 &r 7T T A% # ST U AT 82
32,31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C) 33
D) 35

4) What is the next term in the number series given below?
3, 21,42, 294..

A) 588
B) 2058
C) 1818
D) 1991

4) 2t & TS TEAT A F SFTEA US T 82
3,21,42,294..

A) 588
B) 2058
C) 1818
D) 1991

5) The average age in a family of 7 members is 28 years. A baby is born in the family. What will be
the average age of the family when the baby will be 6 years old?
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A) 29.5 years
B) 30 years
C) 30.5 years
D) 31 years

5) 7 HeEat dTet 9w 3 S 317 28 a¥ 8| IRaR # T S DI e g3 § | o1l sroar 6 ATel Bl
B Al IRER T SfIed 31 fhae gIfl?

A) 29.5 a§
B) 30 a¥
C)30.5ay§
D) 31 a§

6) In a certain code GIPPLE is written as 613382 and LIFE is written as 8192. How is PILLEG
written in that code?

A) 318826
B) 776655
C) 786543
D) 156724

6) T fAfRad Pe 3 GIPPLE 1613382 & &9 3 3R LIFE P1 8192 & &9 & for@r Sl §| PILLEG &1
DT 7 DY forar S ?

A) 318826
B) 776655
C) 786543
D) 156724

7) What can be the coded form of the string COLD from figure 1 and figure 2?
Figure 1:
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Blw|m|—=|o
esli- M- [ pllwliey
wilollo]lwli-liy

& 0| R |2

o |t | | |

plkdiwlliol

Figure 2:

O|oo|~1|on |
cCow oW
O|1Z|Z|7°|C |

== 2|0
Z|™| |||

=00 |O|Z|w

A) 44, 96, 95,
B) 31, 99, 77,
C) 30, 66, 86,
D) 10, 85, 79,

22
22
43
24

7) o 1 3R R 2 | [T COLD BT ehe Sgr T G311 & T Bl Hebell 672

=T 1:

0111213 |4
O|DIK|A|E|C
1|C|IDIK|AI|E
2|K|C|E|A|D
31 K|C|D|E|A
4|E|D|IA|K|C
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516|789
SIP|L|O|T|N
6| TIP|IN|IL|O
7|PIN|IT|O|L
8|OIN|T|P|L
9|L|O[P |N|T

A) 44, 96, 95, 22
B) 31, 99, 77, 22
C) 30, 66, 86, 43
D) 10, 85, 79, 24

8) Which of the following statements can be used to take a decision on this question: Is P>Q?
A)P =30

B) Q=40

C) PQ =1200

D) Question cannot be solved

8) 39 weT R Ty A1 & fore Reafaf@d & Q frg $UF o1 IUTNT fam ST I6hdl § : 37 P>Q 87

A) P = 30

B) Q = 40

C) PQ = 1200

D) Faeam 81 w1ET &7 o Ybell &

9) How many triangles are there in the following figure?
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A) 4
B) 5
C)7
D)8

9) et o # fehcsl e 872

A) 4
B) 5
C)7
D)8

10) Which of the given option will NOT share the same property as the elements of the given set:
(10, 20, 30, 40, 50)?

A) 70
B) 90
C) 77
D) 60

10) 3T T fasheq & ¥ SIF A1 faehed T T e (10, 20, 30, 40, 50) F dcdt B TH U7 B A1
e HA?

A) 70
B) 90
C) 77
D) 60

11) You are given a statement.
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Statement: This is a leap year.

Which of the following questions can be answered by using the given statement?

A) Is this year 19667
B) Is this year 19727
C) Is this year 19887
D) Is this year 19967

11) 30! Ueh U T B
T TG TH NI A g |
T 71T BYT BT IUTNT PR feva=T 2 A T T2 BT 3K 7 Off Febell 27

A) Fa7 I8 99 1966 B2
B) a1 g a§ 1972 82
C) & I 9% 1988 82
D) a7 T 9% 1996 82

12) A Salesman is entitled to ¥ 15 for every km being travelled by car and X 5 for every km being
travelled by bike. In a day, if he has made a claim of ¥ 600 after covering 90 kms, how many
kms did he travel by bike( Consider he has used only car and bike for traveling)?

A) 25 kms
B) 45 kms
C) 75 kms
D) Data Insufficient

12) Teh YodaleT R @RI AT A W T 15 Uiy fohelt 3R 136 a1 I H=A WR 2T 5 iy ey
THETES UH &1 3R 81 afg T faeT &, I 90 fFely T YR B & 91 % 600 H1 a1 fHar &,
a1 I e fFrete e SRS T I 1 82 (WM o 3 ST I1 & forw $Had HR 3R T18H BT
SEATS 36T B)

A) 25 fRaY
B) 45 e
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C) 75 freft
D) 37/ 31q9tea §

13) Sunil told that Mohit was the son of the only brother of his father’s wife. How is Mohit related to
Sunil?

A) Son

B) Maternal Uncle
C) Cousin

D) Brother

13) GId = SATT foh ARl SHD AT Y Geoll & TehATT IS BT STl & | AR AT BT AT AT 62

A) §e1
B) g /A
C) 7oy w1
D) 47§

14) What do all the four names given below represent?
(Croatia, Morocco, Kosovo, Ukraine)

A) Capitals
B) Countries
C) Religions
D) Languages

14) 912 BT T IR 19 F2T g2 87
(hTTfRIT, AR, DIl GoheT)

A) Trerenfaar
B) g
C) et
D) ayer
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15) In how many different sets can the given set be classified if classification is done on the basis
of number of digits in term?

(562, 1782, 987, 110011, 3562, 34)

A) 3
B) 4
C)5
D)6

15) fw TU e B! ey Bieet Set 3 aeffepd R ST Wahdll @ AfE I8 a9fianoT UG # 37T & SR W
femar STTaT 872

(562, 1782, 987, 110011, 3562, 34)

A) 3
B) 4
C)5
D)6

16) A cube is painted on all the faces with same colour and cut into 27 smaller cubes of equal size.
How many cubes are painted exactly on 2 faces?

A) 24
B) 28
C) 32
D) 12

16) T U9 & ! b &I U & 31 Q e frar 9raT g iR YA MHR P 27 B U7 F HIeTIdT gl
frder U9 & 81 2 BAd R Ue fvar T 82

A) 24
B) 28
C) 32
D) 12

17) Select the option that will make the second pair analogous to the first pair.
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Soldiers : Army :: Nomads :

A) Horde
B) Heap
C) Herd
D) Bundle

17) I faehed BT I Y Sl GadY SIS D! Tgell SIS! o Fowd ST aill:
A T :: IR I

A gs
B) &
C)3as

D) areax

~

18) Select the option that will make the second pair analogous to the first pair.
6:219::9:7

A) 221
B) 263
C) 325
D) 732

18) I fached DI IT Y Sl GHIT SIS bl Tgell SilS| B HHETT SHI|
6:219::9:7

A) 221
B) 263
C) 325
D) 732

19) If every second Thursday and all Sundays are holidays in a 31 day month, beginning on
Thursday, then how many holidays will be there in that month?
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A) 4
B) 6
C)3
D)5

19) AT T[FaR T Yo T AT 31 et & ey 3 TR GIN TeaR 3R G 1faar 1 e gt &, ot 39
Hewe # fonctel gefer gim?

A) 4
B) 6
C)3
D)5

20) What is the missing term in the number series given below?
, 175,25, 9,108, 12,7, 133, 19,12, 72, 6

A) 7
B) 9
C) 11
D)5

20) 2 & TS FEaT AT AR UG 4T 52
1175, 25,9, 108, 12, 7,133, 19, 12,72, 6

A) 7
B) 9
C) 11
D)5

21) Two natural numbers have same number of digits and their sum is a 3-digit natural number.
What could be the minimum value of their product?

A) 900

B) 1200

C) 2500

D) Cannot be determined
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21) QY o FEanst & YHH 3id & 3R ST 3 37t T yTehfereh TEAT & | I7eb UGB Bl
=gIqH T 7 51 bl 67

A) 900
B) 1200
C) 2500

D) iR w1gT e o b &

22) What is the coded number for WVCZVS from the following figure?

LETTER:CZNVRSWFD

CODEDIGIT: 864729351

A) 376669
B) 378677
C) 378679
D) 388679

22) fArAfafd Sfpfa & WVCZVS & foT Hesee FEm 4T 87
LETTER:CZNVRSWFD

CODEDIGIT: 864729351

A) 376669
B) 378677
C) 378679
D) 388679

23) Which of the given set of statements should be used to answer the given question: Is P < Q?

a) P is a perfect square.
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b) Q is a perfect cube.

A) Only a

B) Only b

C) Both a and b together

D) Not possible to answer even with both a and b

23) faT T w2 B 3 & & ToIw T U 2=t 3 F foraenr STANT forar SFT =g T &1 P < Q7

a) P U& quf g9 @l
b) Q T ot & @l

A) Fad a

B) %adb

C) a 3R b St T A1y

D) a 3R b axet & A1y off 3a% ET fer S qhell §

24) How many hexagons are there in the following figure?

A)3
B) 4
C) 10
D)9
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24) far1faf@d T & fohdel YealuT 8?2

A) 3
B) 4
C) 10
D)9

25) A set is given, (Mathematics, Algebra, Trigonometry, Geometry). The sets given in options are
similar to it in a certain way EXCEPT one. Find the set that is different.

A) (Physics, Mechanics, Optics, Electromagnetism)
B) (Biology, Photosynthesis, Elections, Weather)

) (English, Grammar, Comprehension, Writing)

)

Chemistry, Reactions, Compounds, Molecules)

C
D

AN AN SN/~

25) T I (101, Nereriog, oAy, safafd) Rar T g1 {eey & fRT U det & T U6 &
Dehrarh YT Th ARed adies ¥ THH &1 et U A1 Y|

26) You are given a statement.
Statement: Number P is an odd number.

Which of the following questions can be answered by using the given statement?

A) Is P a prime number?
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B) Is P a composite number?
C) Is (P+1) divisible by 2?
D) Is (P+2) divisible by 37?

26) 3ATUPHI T HY f&ar 741 3|
HYF: §&AT P UH fawH e g

T TN it BT SUTANT B fore=T 3 T R T2 BT 36X =7 ol bl 872

A) T P T 31T G&IT 87
B) &1 P U Wi wET 67
Claar (P + 1), 2 9 fRssa 82
D) & (P + 2), 3 ¥ fassw 82

27) Which among the following statements will conclude that “Mahesh has a sister”?

a) Mahesh is the only son of his father

b) Mahesh's father has two kids

c) Mahesh’s mother is the only daughter of Rajesh
d) Mahesh has a cousin whose name is Seetha

A)a&d
B)a&c
C)c&d
D)a&b

27) fArafafad Fuat & A Fad T8 ey M i "He ¥ 1 Uh g6 a2

a) FEX 30 frar H13Haldl Y7 o

b) RIS ATl a=a &

c) AR X & AT IS Fr IHald! 3¢ §

d) FeR & T ==Y 98 ¢ forgest A/ Ttar 8

A)a&d
B)a&c
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C)cé&d
D)a&b

28) There are 160 children in a class comprising of two sections — A (with 100 students) and B
(with 60 students). The average marks of the students of section A is 75 while the average marks
for the entire class is 76. What is the average marks for the students of Section B?

A) 77.33
B) 77.67
C)78.33
D) 78.67

28) &l gt aTal U a7 # 160 a3 &, aef - A (100 ST & 1Y) 3R 991-B (60 orat & TY) | a3t A D

o1t BT S 3ieh 75 & STafeh Y3 hall & forw $fiHd 3ich 76 51 aoT B & ot & fow S{NId 3ieh fRhciar
87

A) 77.33
B) 77.67
C)78.33
D) 78.67

29) Showing the photograph of a man, Harish told that his mother was the wife of my father’s son.
If Harish is the only son of his parents, whose photograph was shown by Harish?

A) Son of Harish

B) Father of Harish

C) Brother of Harish

D) Grandfather of Harish

29) Ueh 3MTGH! i FEIR e gU gder 7 el o 3 A #R e & 6 &7 et 81 A gdhver 3704
HICT-cT BT TehaATT G &, O g0er = fohaehy o} feams?

A) gl B1YT
B) &frer & frar

C) gfrar H1HE
D) z8rer & araToil
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30) In each of the pair given in options, Country and its capital is given. Identify the INCORRECT
pair.

A) BANGLADESH - DHAKA
B) CANADA — OTTAWA

C) COLOMBIA - BOGOTA
D) EGYPT — BERLIN

30) fsreut & T U yeds SIS, 2 3R 3qer IS & 718 1 7Teid Sl UgaH |

A) ST - BT
B) &reT- 3fierar

C) spraifaar- dimer
D) farg - afcher

31) Which answer figure will complete the pattern given in the problem figure?

Problem Figures: Answers Figures:

g 2| oSS

(A) (B) (€) (D) (1) (2) (3 S

A) 1
B) 2
C)3
D) 4

31) 1M Al X PR & TTE TAEAT S b Yeet bl G B2
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Problem Figures: Answers Figures:

ol 1| 2 irem | o |

(A) (B) © (D) (1) (2) (3) C))

A) 1
B) 2
C)3
D) 4

32) Which answer figure will complete the pattern given in the problem figure?

Problem Figures: Answers Figures:
(&) (B) (© D) (1 (2) (3) 4
A) 1
B) 2
C)3
D) 4

32) BIF Ul 3aT TP & T8 TAEAT P b Seed bl IR B2

Problem Figures: Answers Figures:

OB ? | @PIPI®

(A) (B) ©) D) (1 (2) (3) G2

A) 1

Page180f85



Setld : 61787 3 Technical Assistant (LAB) - Mechanical BATCH2 180CT2020

B) 2
C)3
D) 4

33) Which answer figure will complete the pattern given in the problem figure?

Problem Figures: Answers Figures:
7 S [ & o
A 7l %l A ¥ 4 4
(A) (B) (© (D) (1) (2) (3) 4
A) 1
B) 2
C)3
D) 4
33) I Wt 3aT SATHTaT & T8 TR NP B et Bl R B2
Problem Figures: Answers Figures:
7 N7 T o & &
A 71 %l A ¥ %
(A) (B) (&) (D) (1) (2) (3) )
A) 1
B) 2
C)3
D)4

34) In what way can this set be classified into two different sets?

(17, 21, 289, 27, 729, 31, 441, 961)

A) (17, 21, 27, 31) and (289, 441, 729, 961)
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B) (17, 441, 27, 31) and (289, 21, 729, 961)
C) (17, 21, 961, 31) and (289, 441, 729, 27)
D) (729, 21, 27, 31) and (289, 441, 17, 961)

34) forE A% A 39 THoTT & SeT-3AT FH a2 3 qaffend fham o el 87
(17,21, 289, 27, 729, 31, 441, 961)

A) (17, 21, 27, 31) 3R (289, 441, 729, 961)

) (17, 441, 27, 31) 3R (289, 21, 729, 961)

)

)

(
(
(17, 21, 961, 31) 31X (289, 441, 729, 27)
(729, 21, 27, 31) 31R (289, 441, 17, 961)

v y)

C

)

35) A larger cube is made from 512 smaller cubes each of dimensions 1cm x 1cm x 1cm. Then the
larger cube is painted on all the faces. Now if you consider the smaller cubes how many are
painted atleast on 2 faces?

A) 80
B) 216
C) 432
D) 72

35) Th T8O 1 9T x 1 THY x 1 JH TH 93F B 512 DI Tt DI fAee 11 7471 g1 R 98

T & gl oD ol de fhar T 81 I 31U Bie gt IR f{aR Y dl 5337 A fhvdsl & 2 BAP R IT
T T ®2

A) 80
B) 216
C) 432
D) 72

36) The average of the average monthly temperatures of February, March and April is 40
degree celsius. The average of the average monthly temperatures of April & February is 39 degree
celsius. What is the average monthly temperature of March? (in degrees Celsius)

A) 42
B) 40
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36) BEd, AT 3R 3rder & NG AT A dTUHM BT 3 40 R afeaaw 1 3n¥e IR walr &
3T A1 &e ITIHM &1 31¥Id 39 3ol Afewad § | A< &1 3d ATflies d9dM &= grm? (Rl
afcaaa #)

A) 42
B) 40
C) 38
D) 39

37) Select the option that will make the second pair analogous to the first pair.
Cricket : Pitch :: Gambling : .

A) Court

B) Temple

C) Classroom
D) Casino

37) 3 fasheq BT Y Sl Gl SIS Pl ggell Siel B FHET I GITI:
fohehe : TO=r :: S3M:

A) wre
B) #ifg
C) smetr
D) %=t

38) What is the missing term in the number series given below?
1,5,11,19, _ ,41,55,71, 89

A) 25
B) 29
C) 31
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D) 36

38) F1d &1 718 T 4Tl F SufRUd UG #4787
1,5,11,19, __,41,55,71, 89

A) 25
B) 29
C) 31
D) 36

39) Six friends, P, Q, R, S, T and U, are going on a trip. The tallest among them is 13 cms taller
than the shortest. The height of R is average of the heights of P and T. The heights of T and R are
162.5 cms and 156 cms, respectively. Who is the shortest among them?

A) P
B)Q
C)R
D)S

39) B8 ard, P, Q, R, S, T 3R U U 731 IR off R &1 37 T Yo Al cafera, Jag I safda I 13

Qi a1 B 1 R T TS P 3R T 6T oS BT 3N9d 81 T 3R R ¥ oa1S HaAen: 162.5 A 3R 156
It g1 39 ST I ATeT B 872

A)P
B) Q
C)R
D)S

40) If PUSH is written as 1234, ROUGH is written as 65274, then the code for SOUP is

A) 3467
B) 3521
C) 7423
D) 6532
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40) ARG PUSH @1 1234 & &9 &, ROUGH 1 65274 & &9 # for@r 7141 &, d SOUP & farw o &
BRTI?

A) 3467
B) 3521
C) 7423
D) 6532

41) A set of statements is given.

a) Radha always lies.

b) Hari always speaks truth.

What will be the answer if Radha is asked, "Will you lie while giving the answer to this question"?

Which of the given set of statements should be used to decide the solution to problem:

A) Only a

B) Only b

C) Both a and b together

D) Not possible to decide even with both a and b

41) =T BT TS TG foam T ol

a) VYT GHRM S Sierdl g
b) &R EARM T T gl

" 319§ JaTd HTSIATd S g S areref”, AR T F YT ST, Tt 3Fr SfaTe gR?

FHEAT & JHTYH BT AU B & fw T U herat & F forgesr STUAN foham ST @i e

A) &ad a

B) %adib

C) a 3R b 2=t T AT

D) a 3R b &t & T1Y off oy BT Gua A&7 §
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42) Which of the images amongst 1, 2, 3 and 4 is the CORRECT water image of the following
figure X?

RS AN AN < RN

A) Image 1
B) Image 2
C) Image 3
D) Image 4

42) ffaf@a Ra-T X & faw B T 1, 2, 3 3R 4 yfafaest & T S I T8 od gfafaers 82

X HoA NN

X

A) gfafees 1
B) gfafees 2
C) gfafassr 3
D) gfafsrs 4

43) A set is given, (23, 12, 35). The sets given in options are similar to it in certain way, EXCEPT
one. Find the set that is different.

A) (46, 24, 70)
B) (35, 22, 57)
C)(

) (

D

36, 26, 61)
68, 12, 80)
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43) U 9T (23, 12, 35) &1 T | [erew 31 3T T At & T U &) SisdHrar H Th ARad
a0F q UH GAH §,98 T A1 Y o 3@ B

A) (46, 24, 70)
B) (35, 22, 57)
) (36, 26, 61)
) (

68, 12, 80)

C
D

44) Given below a question followed by 2 statements. Choose the statement required to answer
the question by selecting an appropriate answer option.

Question : How many brothers do | have?

Statement 1: | have equal number of sisters and brothers.
Statement 2: My elder sister has 2 sisters.

A) Only statement 1

B) Only statement 2

C) Both statements 1 and 2

D) Neither statement 1 nor statement 2

44) I Uh 927 & 1Y Gl HY T MU §| 3R 3o Aehed BT ITT HRD YL B 3 o & o
1T HY ol |

g2t A fcter HTS &2

HYF 1: A gt 3R ST dhr Fear I ¢
HYF 2: AN TSIde Fr 2 951 &

A) &Had HYF 1

B) &dd &y 2

C) &Y 1 3R 2, gt
D)3 d@ &y 1 SIRA G FHYF 2
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45) The average score of a batsman is 75 runs after 40 test matches. His highest score exceeds,

the lowest one by 258 runs. If those two matches are excluded, his average score will become 72
runs. What was the highest score of that batsman?

A) 259
B) 260
C) 261
D) 263

45) 40 ¢¥c Fat & T1G TH dealdral B T TR 75 T 8| STB3TddH THR FTdd TR 258
M 31 81 e 37 < #af P anfirer 78T fear SdT 8 ) SBT3 d FhIK 72 39 81 S| 39

deddTsl & afed THhIX T U?

A) 259
B) 260
C) 261
D) 263

46) A is the son of B while B and C are the two sisters. E is the mother of C. If D is the son of E,
which one of the following statements is CORRECT?

A) E is the sister of B

B) D is the cousin of A

C) D is the grandfather of B

D) D is the maternal uncle of A

46) A, B BT § STafeh B 3R C ¥t agel &1 E, C A AT g1 32 D, E B9l B, Al oot et 37 9
I I TP AL 62

A)E,BHI T8I ®

B)D ATTTRI WIS ©§

C)p, B & et &

D) D, A 1M &

47) Vinay is the son-in-law of the mother-in-law of Rakesh's wife. Usha is Rakesh's only sister.
How is Rakesh's mother related to Vinay's wife ?
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A) Mother-in-law
B) Sister-in-law
C) Mother

D) Sister

47) T AU HT Teelt T TG BT SHIG 2 | SIS Ihald! 98 & | AP A BT a1y Y Teair
> 1Y a7 e 82

A) arg
B) @reir
C)ar

D) 55+

48) Which among the following statements provide equivalent information?
a) (P-2)(P-4)<0

b) P>2
c) P<4

A)aandb
B)b and c
C)aandc

D) All three a, b, and c give different information

48) PrATAfRd FY=t & Y DH A HY FHLAHHT SHTeTehrY el B 62
a) (P-2)(P-4)<0

b) P>2
c) P<4

A) a2 3R b
B) b 3iRc
C)a3Rec
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D) gaft @ a, b, 3R ¢ SITHT-3T ST U D &

49) In what way can the terms of given set be divided into three sets so that the terms in three sets
have same product?

(27,12, 24, 18, 54, 36)

A) (27, 24), (12, 36) and (18, 54)
B) (27, 24), (12, 54) and (18, 36)
) (12, 24), (27, 54) and (18, 36)
) ( ),

27, 54), (12, 18) and (24, 36)

C
D

49) T 7Y Fet & uet B, fhg olish ¥ o9 et & fasnford far S Fohdl @, arfes it et & uel o1
U A BI?

(27,12, 24, 18, 54, 36)

(27, 24), (12, 36) 31R (18, 54)
(27, 24), (12, 54) 3IR (18, 36)
(12, 24), (27, 54) 31R (18, 36)
D) (27, 54), (12, 18) 3R (24, 36)

50) Which number pattern is different from the others?

A)3,5,9, 17
B) 4, 7,13, 25
C)5, 9,17, 33
D) 6, 19, 64, 210

50) I T TEAT et gast ¥ ST 62

A)3,5,9,17
B) 4, 7, 13, 25
C)5,9, 17, 33
D) 6, 19, 64, 210
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Section 2 - English Language

No. of Questions: 50

51) Identify the antonym for the word — Crude

A) Refined
B) Unrefined
C)Bad

D) Tasty

52) Choose the correct article to complete the sentence:
students were sitting quietly.

A) A

B) An

C) The

D) No article required

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) We have / (B) been frantic / (C) by worry. / (D) No Error.

A) A
B) B
c)C
D)D

54) Choose the best meaning of the underlined idiom in the sentence.

The villain ate the humble pie at the end of the movie.

A) repudiated
B) confessed
C) questioned
D) rejoiced

55) Fill in the blank with the correct pronoun:
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is a very pretty girl.

A) He
B) They
C) It

D) She

56) Fill in the blanks with the correct option:

Her car is excellent condition.

A) at
B) in
C)on
D) with

57) Fill in the blanks with the correct option:

The sea was churned up heavy winds.

A) with
B) by
C) of
D) to

58) Choose the correct option to complete the sentence:
He failed to complete the task because of his

A) perseverance
B) attentiveness
C) laziness

D) eagerness

59) Identify the Compound sentence.

A) Our dog was frightened at the noise of the fireworks and ran indoors.
B) Few plants can grow in such a frigid environment.
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C) It was a lovely spring morning.
D) I hit my head as | was getting into the car.

60) Choose the word that is correctly spelt.

A) Apease
B) Appease
C) Apeese
D) Appeasse

61) Identify the synonym for the word — Servile

A) Driven
B) Slavish
C) Puerile
D) Royal

62) Identify the synonym for the word — Fabulous

A) Incredible
B) Terrible
C) Rich

D) Copious

63) Fill in the blanks with the correct form of verb:

The college classical language courses.

A) offer

B) offering

C) were offering
D) offers

64) Fill in the blank/s with the correct form of the verb given in brackets:

My father often

A) will have scolded
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B) scolding
C) scolds
D) be scolding

65) Choose the correct verb to complete the sentence:
The old man cannot very well in the dark.

A) seen
B) see
C) saw
D) sees

66) Choose the correct verb to complete the sentence:
They the effort we had made.

A) appreciated
B) appreciate

C) appreciating
D) will appreciate

67) ldentify the antonym for the word — Vague

A) Rough

B) Smooth

C) Fashionable
D) Apparent

68) Choose the correct article to complete the sentence:
Suman has always been shy child.

A) a

B) an

C) the

D) No article is required.

69) Identify the part of the sentence that has an error:
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| like your photographs so | send them for publication.

A) | like

B) your photographs
C) so | send them
D) for publication

70) Choose the meaning of the italicized idiom used in the given sentence.

For the principal, the school board's decision to expel his son for the reason of misconduct was a
bitter pill to swallow.

A) an unpleasant situation that must be accepted
B) an unpleasant medicine that must be taken

C) an unpleasant law that is passed by the government
D) a badly made medicine

71) Choose the meaning of the italicized idiom used in the given sentence.

Those who study both Mathematics and Biology in the 11th and 12th standards have the best of
both worlds.

A) living in two different countries at the same time

B) enjoying two different opportunities at the same time
C) having the best resources for two different subjects
D) having too much burden due to an extra subject

72) Fill in the blanks with the correct option:

Although complained about the bad roads, took the intitiative to bring
it to the notice of the concerned authority.

A) everybody/ everyone
B) none/none

C) everybody/everybody
D) everybody/ none

73) Fill in the blank with the correct preposition:
He is two years older than .
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A) she
B) me

C) they
D) I

74) Fill in the blanks with the correct option:

He has been committed prison fraud.

A) to, for
B) for, to
C) with, in
D) on, to

75) Choose the correct option to complete the sentence:
Unlike the wholesaler, the sells directly to the customer.

A) seller

B) retailer
C) supplier
D) consumer

76) Choose the correct option to complete the sentence:
Cars must not be parked the gate.

A) in addition to
B) by means of
C) in front of

D) in regard to

77) ldentify the Compound sentence.

A) | took one look at her and cracked up.
B) The child crawled across the floor.
C) I've run out of milk.

D) They sat in the back row of the cinema.
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78) Choose the word that is correctly spelt.

A) Accompanement
B) Accompanyment
C) Accompaniment
D) Accommpaniment

79) Choose the word that is spelt correctly.

A) Averisious
B) Avericious
C) Averitious
D) Avaricious

80) Identify the synonym for the word —Callow

A) Dirty

B) Pure

C) Sophisticated
D) Immature

81) Identify the synonym for the word — Configuration

A) Confinement
B) Arrangement
C) Drawing

D) Alteration

82) Fill in the blanks with the correct form of verb:

She from school at 15 years old.

A) was expelled
B) were expelled
C) expelling

D) expels

83) Fill in the blank/s with the correct form of the verb given in brackets:
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My friend usually (pick) me up at the end of the corner and (drop) me at
the office everyday.

A) picks, drops

B) picked, has dropped

C) will pick, will drop

D) has picked, has dropped

84) Select the right verb for the blank:
She cannot read unless she glasses.

A) wearing
B) wears
C) wore

D) wear

85) Choose the antonym of the underlined word.
There is a very enticing dale in Rajasthan.

A) Dingle
B) Dell
C) Glen
D) Hill

86) Choose the correct article to complete the sentence:

Astronomers study what causes eclipses when they occur.

A) a

B) No article required
C)an

D) the

87) Choose the correct articles to complete the sentence:
dead no longer need help.

A) A, an
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B) A, the
C) An, the
D) The, no article

88) Identify the part of the sentence that has an error:
To each of our teachers, we bought a bouquet of roses.

A) To each

B) of our teachers

C) we bought

D) a bouquet of roses.

89) Choose the meaning of the italicized idiom used in the given sentence.
After five minutes of beating around the bush, he finally asked his manager for 2 days leave.

A) searching for birds

B) searching for excuses
C) avoiding the main topic
D) avoiding getting scolded

90) Choose the Pronoun in the given sentence:
It is a favourite game of theirs.

A) favourite
B) game

C) theirs

D) of

91) Fill in the blanks with the correct option:

You should abstain smoking, as it often causes cancer.

A) for
B) from
C)in
D) on
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92) Fill in the blanks with the correct option:

The actor was besieged requests for autograph from her fans.

A) from
B) for
C)to
D) with

93) Choose the correct option to complete the sentence:
The bomb scare made the people of what might happen.

A) pensive
B) unconcerned
C) apprehensive
D) careless

94) Choose the correct option to complete the sentence:
| could not buy the shoes because the price was .

A) reasonable
B) affordable
C) fair

D) exorbitant

95) Identify the Complex sentence.

A) They offered no solution to our myriad problems.
B) Paul was named after his grandfather.
C) Some migrating birds can navigate by the moon.

D) Theirs was a partnership, which was based on mutual respect, trust and understanding.

96) Choose the correctly spelt word.

A) Inconsiquential
B) Inconsequintial
C) Inconsequential
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D) Inconsequenshial

97) Identify the correct synonym:

Impinge

A) Encroach
B) Sell

C) Buy

D) Exceed

98) Identify the correct synonym:

Exorbitant

A) Cheap

B) Inexpensive
C) Small

D) Excessive

99) Fill in the blank/s with the correct form of the verb given in brackets:

I (feel) like a stranger even when |

A) am feeling, was
B) feel, am being
C) feel, am

D) was feeling, am

(be) amidst my family.

100) Choose the correct verb to complete the sentence:
Shashi offered me to the airport, as it was on his way.

A) dropping
B) a drop
C) to drop
D) drop
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Section 3 - General Awareness

No. of Questions: 50

101) In April 2019, which company announced its plans to shut down operations in China?

A) eBay

B) Flipkart
C) Amazon
D) Walmart

101) 3134eT 2019 &, forg HUAT A, A 7 ATIR &G HRA hr 3T JioiHT T GIyuT Hr?

A €3

B) freraehre
C) wHmei
D) gferare

102) Which of the following semiconductor materials is used in manufacturing a transistor?

A) Aluminium
B) Silicon

C) Graphite
D) Fullerene

102) gifSreey & fAsTor & Peafaf@a & O frg Yefergeaey A1 3refarers garet &1 IUANT T SITdT 82
A) e
B) raforeprer

C) Irrze
D) e

103) Who among the following is the first law officer of the Government of India?

A) Attorney General of India
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B) Governor of the state
C) Chief Justice of India
D) Prime Minister of India

103) fAeATafAd & ¥ DI YR IPR BT 92H ST TSR 82
A) YRT & FgT=arIaTdr

B) /51 & Trsgara
C) HRd & e =amamefer
D) 4Rd & gerrer #4r

104) Which of the following treatises is the work of the poet-saint Tulsidas?

A) Ramcharitmanas

B) Manusmriti

C) Hari Chitta Satya

D) Ramadhanya Charitre

104) Fr=faf@d & A I A1 7 HfA-Hd TGN Hr [=THA 62

A) IEaRaAE
B) Fenfa

C) ek R e
D) zreren=ar a3

105) Appam, a type of pancake made with fermented rice batter and coconut milk is a common
food in which state of India?

A) West Bengal
B) Maharashtra
C) Kerala
D) Odisha
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105) 31o9#, Th YehR I U e ford WHR I3 AMGd & Tiet 3R ATRIT & GY Y TR STl 3,
T YRT & el T BT 3T HIoH 87

A) gfResH ST
B) sgmrSe

C) axa

D) snfar

106) India shares its land frontier with which one of the following countries in the East?

A) China

B) Pakistan

C) Nepal

D) Bangladesh

106) HRd U f&em 3 feaifoifld & ¥ fhe Q=1 1Y U Y& HIHT-srerer b A1 Bl 57

A) <4

B) urferearer
C) Fura

D) sioamear

107) Which of the following separates Sri Lanka from India?

A) Duncan Passage

B) Nine Degree Channel
C) Ten Degree Channel
D) Palk Strait

107) fPfaf@a & § a1 Aeie BT URA & 3T HRT 872

A) S TR
B) 9139 f2efy 39 d
C) 29 f2afr 99
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D) ures e¢e

108) The remains of Indus valley civilisations are NOT found in which of the following states of
India?

A) Punjab
B) Uttar Pradesh
C) Guijarat
D) Odisha

108) F=ifaf@a & ¥ HRA & e Tsa & iy arét T3gar & A= g1 U1e oiid &7

A) g

B) 3% wer
C) 1roRTa
D) afaar

109) One of the major sites of the Indus Valley Civilization 'Kalibangan', is loacted in which of the
following states of India?

A) Rajasthan

B) Madhya Pradesh
C) Uttar Pradesh

D) Punjab

109) e TTeY ToTT & YA Tl H J Th 'Hrelis1ar’, HRA & eAfarad 7 J fha T 7 o
o

A) TreTEaT

B) sy weer
C) s gear

D) gaire
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110) The '61st Amendment' of the Constitution of India, officially known as The Constitution (61st
Amendment) Act, 1989 has fixed the voting age of elections to the Lok Sabha and to the
Legislative Assemblies of States at

A) 18 years
B) 21 years
C) 23 years
D) 25 years

110) YRd & Efaer= ®1'61d1 GRNY', S 3nfRemRe &0 T GigerT (6191 I=Y) 3T, 1989
& &9 & ST Il &, 7 b aHT 3R st i Rereasimait & forw garat & Aaar H 30 fedah 7 &
87

A) 18 TTd
B) 21 91
C) 23 g1
D) 25 drat

111) Which state in India is the first one to launch Crime and Criminal Tracking Network and
Systems (CCTNS)?

A) Maharashtra
B) Karnataka
C) Goa

D) Guijarat

111) HRd & DI T T FISH US hffed ¢FT sicas Us e (CCTNS) diea B dTell Ugal
TS 82

A) RIS
B) satee
C) Mar

D) TLW
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112) In 2017, India's first Rural LED Street Lighting Project was implemented in which of the
following states?

A) Odisha

B) Tamil Nadu

C) Jharkhand

D) Andhra Pradesh

112) 2017 &, HRd &I Igelt JMHUT LED TEIT 15T aRTsIa feafai@d 7 ¥ fhg e & AN &r
T8 ft?

A) 3nfaerm
B) a—&'(—,';ng
C) ez
D) 3tier werer

113) Which of the following athletes created history by becoming the first Indian woman wrestler to
win gold medal in 2018 Senior Asian Championships?

A) Sakshi Malik
B) Geeta Phogat
C) Navjot Kaur
D) Babita Kumari

113) fAfaf@a & 9 e vaelie 3 2018 WA vRIamS Afw=fg & waof ggdh Siiar arel Tgel
YR #Afger UgddH g sfaga 3 fear?

A) areh Afers
B) i1 wrre
C) Taelid R
D) sferar pamdy

114) Who won the FIFA World Cup Football 20187

A) Germany
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B) France
C) Croatia
D) Brazil

114) T faea U pesie 2018 raer Siidl?

A) St
B) wig

C) srafRram
D) s1f3rer

115) Who was sworn in as the new Prime Minister of Palestine in April, 20197

A) Mohammad Shtayyeh
B) Mahmoud Abbas

C) Benjamin Netanyahu
D) Rami Hamdallah

115) 3713, 2019 # TR & AU FU=HT & &9 7 fhas TTY N2

A) migFre TIddg
B) weHg srsara
C) et g
D) it goeeee

116) Which nation awarded Prime Minister Narendra Modi with its highest state honour 'Order of St
Andrew the Apostle' in April, 2019?

A) China
B) Russia
C) Israel
D) France
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116) 378, 2019 & e SR TeTeT FY A AT D U Hafea AR TeATH ‘37T 31 e Ugg.
G TirEeer § FEATAT fRar?

A) 94
B) wg
C) gorrsd
D) i

117) Which of the following phenomena does NOT occur during the formation of a rainbow?

A) Polarization

B) Total internal reflection
C) Refraction

D) Dispersion

117) S8 & 6 & SR foreet & | B Ul aReresr w81 gl 82

A) grdieprul
B) ot 317aRes wrade
C) 3rqade
D) afveyoor

118) The odorant added to LPG cylinder to identify the leakage is

A) Chlorine

B) Ammonia

C) Dimethyl sulfide
D) Ethyl mercaptan

118) &g 1 UgaH FRA & fow LPG Aol &1 1 Y Hemar Sdr g2

A) Tl
B) st
C) ggHyTEd Hewrss
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D) sursd aeeet

119) What colour is discharged when neon gas is used in a gas discharge tube?

A) Red-orange
B) Violet-purple
C) Yellow-blue
D) Grey-off white

119) 919 19 f2arel 3d & AT 19 BTSN fhar SITdl &, T8 DI 91 T faaford oIl 62

A) TAA-ARI
B) aracie sl
C) dar-—ter
D) 3r-3{{th cgr8e

120) Article 1 in the Constitution states that 'India, that is Bharat, shall be a ....... '

A) Federation of States
B) Unitary State

C) Union of States

D) Quasi-federal State

120) AUt & ofTede 1 & HEITT § i, 'S, 3rdid YR, ...

A) =Tt BT EERTST &
B) af¥pes Toar B

C) st d1dg §

D) srer-wiefta wrewr §

121) As per the Order of Precedence of the Republic of India, the second citizen of the country is
the

A) President
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B) Prime Minister
C) Vice President
D) Deputy Prime Minister

121) YR ORI B AT FF & IR, GBI GERT AR BI g7

A) rsgafa

B) germeres

C) smregufa
D) Iuwemsra=h

122) Which of the following Deccan mountains are situated between the rivers Narmada and
Tapti?

A) The Aravallis
B) The Satpuras
C) The Vindhyas
D) The Eastern ghats

122) FAfaf@d & T B Il gared 9dd, 73T 3R dredy Al & o9 feua 872

A) 3RTael
B) g
C) foe

D) gdf ure

123) Which one of the following places in Jammu and Kashmir is known as 'Little Tibet'?

A) Ganderbal
B) Rajouri
C) Ladakh
D) Udhampur
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123) ST 3R FHR F Feaafaiad 7 ¥ 5 T+ B fafee fsaa & 14 Y ST ST 82

A) areetare
B) sty
C) seera

~

D) IywgR

124) Who is the author of the famous novel ‘Anandamath’?

A) Abanindranath Tagore

B) Natesa Sastri

C) Bankim Chandra Chattopadhyay
D) Rabindranath Tagore

124) YRACH 39419 'HHGHS & @D DI &7

A) raeliegaTer SR

B) qadr emei

C) dfrrraeg gecmear
D) tfamgatrar IR

125) In Peshawar, who led and organised the Civil Disobedience movement?

A) Lala Lajpat Rai

B) Jawaharlal Nehru

C) Maulana Abdul Kalam Azad
D) Abdul Ghaffar Khan

125) URMER &, T3 3raar 3Midle &1 dca 3R SISH fhae fpar 417

A) e |TeTad ™

B) Sarerdrd sgw
C) HIeTHT 3tegd P TS
D) 3reget s @M
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126) As per Indian Constitution, a person who is arrested and detained shall have to be produced
before the nearest magistrate within

A) 12 hours of the arrest
B) 24 hours of the arrest
C) 36 hours of the arrest
D) 48 hours of the arrest

126) HRGIY TfeT= & SfTHR frelt cafdd for fRerar fovam T 81 SIR garerd & 31 a1 81 39
forciey THT & SR frshe e Sl & U Jdd T S 1 JTaer= 62

A) IRFaR 8H & 12 gl & iR
B) fR¥aR 811 & 24 gel & Wi
C) fRwaR B & 36 &el & HIR
D) o 81H & 48 et & Uik

127) In the Indian Constitution, the subjects of Citizenship and Census is included in which of the
following lists?

A) Union List

B) Concurrent List
C) State List

D) Residual List

127) HRA @faenet & ArResdr $IR UM & w3t &l eafarad & 9 fra g o1 enfirer fmar
T 87

A) g9 A
B) garadf =it
C) rer T
D) sraflrse =it
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128) According to the Joint Sittings and Communications Rules of the Houses of Parliament, the
quorum to constitute a joint sitting shall be

A) One-eighth of the total number of members
B) One-tenth of the total number of members
C) One-sixth of the total number of members
D) One-fourth of the total number of members

128) TG & Teell & FYFd d96% qul Hag Jeath Tt & SFTUR, Ygad 93 a1fdd HRA & ford
T el HeEaT hr Hean

A) P TeEd HEAT P $1Gal HIT BT

B) 1 wery Tear d1aydl HIT gl

C) 3 Heed TEAT BT BST HIT BRI

D) oat T wEam H1UD TIUTS HIT BRI

129) Which of the following bodies is a constituent research laboratory of the Council of Scientific
and Industrial Research (CSIR) established in 1961 and conducts research on highly complex
structure and processes of the Earth system?

A) National Geophysical Research Institute
B) Indian Geo-Strata Research Council

C) Geomorphical Research Institute of India
D) Indian Geophysical Research Council

129) fAe=ATafd & ¥ 31 A1 AT 1961 & T 3 SR 3ite@fiew SF9U™ aRve (CSIR)
Y T YUH TNY FATTRATET & SR Y2 JoTel Y 3rca i sifeer YT SR ufhamsit IR Sdum™
HIA1 8?2

A) s ysitfadrr SITdU™ e

B) yRdlg Y-rader g™ afwg

C) o3t fherer Rad s¥éege sl sfzar
D) yReffa y-sifaehr SrTgu™ afiteg
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130) Who among the following scientists from India won the Dan David Prize for 2017, for his
contribution in the field of Astronomy?

A) Jayant Narlikar

B) Subrahmanyan Chandrasekhar
C) Fathullah Shirazi

D) Shrinivas Kulkarni

130) W Ta=TeT & &7 F STH ANGH & ToIT, R & foidelio e Jeilfetent 3 frder 2017 & forw
7 2fg WESR Sdr?

A) ST sreifet

B) Yseavae gegaer
C) thgears farTsht

D) shfeyare Perepoft

131) V.J. Surekha one of the recipients of Arjuna Awards 2017 represents India in which of the
following sports?

A) Boxing

B) Wrestling
C) Badminton
D) Archery

131) 3(VlT [REHR 2017 & Fredendi3it # ¥ Tep, dt. o, AT fFe=1faf@d # ¥ o @d & HRd &1
gfafafeca Hdl &2

A) Herharsit
B) et

C) Ssfiea
D) dRereit

132) In 2019, which organisation created the Guinness World Record for the longest single line
moving bicycle parade in Noida?

A) National Disaster Response Force

Page530f85



Setld : 61787 3 Technical Assistant (LAB) - Mechanical BATCH2 180CT2020

B) Central Industrial Security Force
C) Border Security Force
D) National Security Guard

132) 2019 #, e TG = TTST & G qell Rarer <13 AT TTsfehet WSS fow [eier aes Rers
o1y7?

A) AT e U By
B) dear i GgRE B
C) stst A gREr B

D) Aemd aegReér ans

133) The longest serving combat unit of the Indian Navy which turned 60 in 2019 is

A) Blue Tigers squadron
B) Red Tigers squadron
C) Black Tigers squadron
D) White Tigers squadron

133) o THA dP HRATA AT & T & I1dt e e forg 2019 3 60 A1 TR fohe, I fpay
AT & ST STl 87

A) o] TTZI TFATZA
B) Y ez Tt

C) st TT5IRT TFaTE
D) zgge ergerd Teratgal

134) According to the Food Safety and Standards Authority of India (FSSAI), the use of which of
the following chemicals is prohibited for ripening of fruits?

A) Calcium chloride
B) Sodium chloride
C) Calcium carbide
D) Sodium bicarbonate
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134) R @eg TX&T Td H-eh TIfAaoT (FSSAI) & Harfaeh, hell dl U & faw Fefafad
AT 7 Y e BTSN ey 87

A) $TREIH FoiRTSs
B) @ifza# seiviss
C) &forraa wreTss
D) aifzus sresrefae

135) Which of the following polymers is used to prepare soft contact lenses?

A) Polymethyl methacrylate
B) Polyvinyl chloride

C) Nylon 6

D) Polyacrylamide

135) fre=Tfaf@a & § frg difoFR ©1 SEQATS A1 Hiecde o ddR B4 & T ST 872

A) arehfaTse AThReT
B) qrehfasiser #aiRtss
C) e 6

D) utehufhersarss

136) Who among the following moved the Objectives Resolution which was unanimously adopted
by Constituent Assembly on 22 January 19477

A) Rajendra Prasad
B) K.M. Munshi

C) Jawaharlal Nehru
D) B.R. Ambedkar

136) fAFafafld & U fFa= 22 STTadl 1947 DI AT THI GaRT FETFATT I SUAT U 3eT
Tehed Dl TR famar?

A) Treteg gaTE
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B) $.uw. 7=
C) Sarevard ag®
D) &t 3R, 3rageht

137) Which among the following Articles of Constitution of India deals with 'Prohibition of Traffic in
Human beings'?

A) Article 21
B) Article 17
C) Article 23
D) Article 29

137) YRA & HIAETT & e i@ Sfedal # ¥ P 9l WA Sifa i aeehdl IR yiaser J deftd
?

A) 3= 21
B) s/ 17
C) e 23
D) sri=ere 29

138) Which of the following is an art form encompassing ritual singing, drumming and dancing of
Manipur?

A) Sankirtana

B) Ankiya Naat
C) Yakshagana
D) Koodiyattam

138) fAFATaf@d 3 @ BI7 1 U Bl &9 & foras) AR & Isar M, el 3R Tz enfirer §7

A) Fehrd
B) siferarmete
C) getarer
D) gfgarees,
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139) Dumhal dancers dress up wearing vibrant coloured robes and conical caps, which are
generally studded with beads. It is a popular folk dance of

A) Gujarat
B) Kashmir
C) Jharkhand
D) Karnataka

139) GHE aAcieh 3Mehdeh WA o 3R e Ul UgTd &, Sl 39 AR R Aifat & i &1
€ g U= 1 TP TG b 1 67

A) TR
B) sreriy
C) grRds
D) setfeen

140) Who among the following is NOT an Indian classical Bharatanatyam dancer?

A) Saroja Vaidyanathan

B) Padma Subramaniam

C) Pandit Shambhu Maharaj
D) Geeta Chandran

140) i@ F § SH URT areT HRAATCTH Fde 78 87

A) WIS Segetrare
8) gegt JeeoaH
C) ufse erey TR
D) e ager

141) Which of the following is India's first crowdfunded and crowd-sourced Sanskrit animated
feature film?

A) Meghaduta
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B) Punyakoti
C) Ishti
D) Bhagavad Gita

141) 3731 T B HRA ¥ Tgell 138 HeS (HIS T D) 3R h133-81E Tehd vfades Brer fhea
?

A) T

B) quzsife
C)sfe

D) apirad iar

142) Which of the following statements is TRUE for the rivers Sabarmati, Mandovi and Narmada?

A) All the three rivers flow into the Arabian sea

B) All the three rivers originate in the state of Gujarat

C) All the three rivers are east flowing rivers and drain into Bay of Bengal
D) All the three rivers originate at Bhima Shankar in Maharashtra

142) FIeRHT, At 3R F37eT AT & farw fefai@d & T S A1 HYF FéY 82

A) it i R SRI AR #F J8dl &

B) @t A srfet oRId e 3 foveperch &

C) it i et U& 9 arehr At & SR SISt Sy WSt Tucll &
D) it 9 afear sgrTse & HiHT Yax # Aeherdr &

143) Which of the following temples was built by King Narasimhadeva |, the great ruler of the
Ganga dynasty?

A) Sun Temple of Konark

B) Virupaksha Temple of Hampi

C) Brihadeshwara Temple of Tanjore
D) Pancha Ratna Temple of Bankura
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143) T I & A D 6T s AFged |, 7 ReaAfaf@d & 9 SF Iq1 AR S+ ar u1?

A) ST BT AT

B) gt o1 fauret AR
C) dWIR &1 gy #Hfex
D) siepR1 1 Ul Teet AT

144) Who among the following kings is the founder of Rashtrakuta dynasty?

A) Amoghavarsha
B) Vatsaraja

C) Dantidurga

D) Dharmapala

144) fAFaTEa XSS 3 | P17 Tsgehe T P FEATS &7

A) rATeay
B) aeawre

C) &forgatt
D) eraarer

145) As per the Election Commission of India, 'Bicycle' is the recognised election symbol of:

(i) Samajwadi Party - Uttar Pradesh
(ii) Manipur People’s Party - Manipur

(iii) Dravida Munnetra Kazhagam - Tamil Nadu

A) (i) and (ii)

B) (ii) and (iii)
) (i) and (iii)
) (

C) (i)
i), (i) and (i)

D

145) YRA & foraTeret 3TN & STHR, SISUISH A el ATl Yo I Tciieh o

(i) FHATSTATGT 91el- 3% Ieer
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(il) ATOTR qgew ardi- AR
(iii) &35 Yo7 HoTH - afAeeg

A) (i) 31 (ii)

B) (ii) 3R (iii)

C) (i) 3R (iii)

D) (i), (i) 3R (i)

146) What is Solibacillus kalamii; named to honour the late President of India Dr. A P J Abdul

Kalam?

A) New bacteria discovered by NASA on the filters of International Space Station
B) Robotic arm developed by ISRO to re-position satellite in the space

C) New vaccine developed by National Institute of Virology, Pune

D) Antibiotics developed by Haffkine Bio-pharmaceutical Corporation Ltd, Mumbai

146) HRA & fdard Irseafar S1 T Ul Ol 3egd Bl Dl TFATAT B & T AT e faers

HATH! F4T 82

A) RO 3afer T2t D feet TR NASA gaRT WIS 717 =747 Sftaro]

B)  37af¥et 3 39ars I Y I T: T R & faw ISRO ganr faeféra Aaiifeas i
C) AR SEEreyT B aRRIATST, YOl garT s fla 75 &

D) &ftreret ITAl-wrATEgfe el HIARRI RS, oS arT s fd tderfesa

147) Researchers from National Chemical Laboratory Pune, produced carbon from which of the
following agri-products to be used in Li-ion batteries?

A) Groundnuts
B) Sweet corn
C) Soyabean
D) Sugarcane
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147) ITSET TR FITRITeT Ul & eiershai3it 4 Fr=faf@d & 9 B 9§ B camel 9 Li - 3
SRt # goeFd 811 aTel S1det 1 ScdTeT fohaT 82

A) Hardrelr
B) &ie &t
C) Irareq

D) st

148) Which of the following options was chosen as the official mascot for the FIBA Basketball
World Cup 2019?

A) Son of Dreams
B) Zabivaka

C) Turtle 'Olly

D) Ettie

148) fAFATafAd & ¥ DI I fasheq FIBA STEhesiel faed $U 2019 & forw 3nfisiRes U T
T Y72

A) T4 JTh e
B) Sirsitareht

C) céar '3iveelr
D) wedr

149) Who was the flag bearer for the Indian contingent at the opening ceremony of the 2019 South
Asian Games in Nepal?

A) Tejinder Pal Singh Toor
B) Rahi Sarnobat

C) Neeraj Chopra

D) Saurabh Chaudhary

149) AUTA & 2019 STEIUT TRIATE Weil & SeuresT YHRIG & YR Gd & eaelaige HIF U?

A) dfSiex UTe Rig T
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B) 1ér TRASa
C) ket duet
D) IR =terdy

150) Sumrai Tete, a recipient of Major Dhyan Chand Award 2017 belongs to which of the following
sports?

A) Hockey

B) Athletics
C) Football
D) Golf

150) RIS ¢¢, HOR &ATeTde YRR 2017 & UTeashd! etaad 7 I e ©e ¥ wefia &2

A) gidhr
B) veraifesra

C)gﬁam
D) aew
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Section 4 - Technical Knowledge of Mechanical

No. of Questions: 50

151) In Projection of solids, what does dotted line indicate?

A) Hidden Edges
B) Axis Line

C) Center Line
D) Visible Edges

151) 31 geralf & gaiqor &, [Nler 38T a1 g B0l 82

A) R T Ry

B) 3re7 3@

C) &g 3@

D) fewrs ¢4 a1dt foReir

152) Which of the following operations is preferred for surface finishing operation?

A) Indexing
B) Milling
C) Dirilling
D) Lapping

152) fre=Tfof@a & T S IT TR Tdg TRseH0T TR IT IRGY AT TR & faw
HRIAT 872

A) s=fea
B) Afiar
C) fafdfar
D) Sifefar

153) Which operation has the lowest material removal rate?
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A) Honing
B) Truing
C) Grinding
D) Reaming

153) T e & FreTaft GO &1 & UaY &1 Bl 67

A) 3o
B) zear

C) frams
D) §if#ar

154) Which among the following options is @ machining process?

A) Sawing
B) Boring

C) Chiselling
D) Forging

154) fre=ifof@d et & @ DI It T Fehfeer ufdhar 82

A) IR

B) qy=1 (&)
C) Rrarferar

D) ®ifSier

155) Which of the following is an example of GO and NO-GO gauge?

A) Ring gauge
B) Height gauge
C) Feeler gauge
D) Slip gauge
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155) faeT 3 B I GO I 3R NO-GO T &1 IGgRUR?

A) Rt st
B) grge N9
C) e 5
D) feera w1

156) Which quantity is a vector quantity?

A) Mass

B) Density
C) Volume
D) Velocity

156) D19 It 1f2r afger ufdr 82

A) gemTa
B) ge7g
C) siraa
D) g7

157) Weight of the body due to gravity 'g' is defined as:

A) Gravitational force of attraction towards the centre of the earth
B) Centripetal force of earth

C) Force experienced by body in water

D) Outside force acting on body

157) T&cd 'g' & HRUI 408 & IoH B! ot TR IR Fhar STl 62

A) gt & &g T 3R YT BT T[%eq T
B) gedt &1 dhenfremy 5t

C) urt # Rz garr 3FHd farar T«
D) Rz IR ey amed ot
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158) What is the purpose of V- Block in the workshop?

A) To hold round/cylindrical workpiece
B) To measure taper on job

C) To check surface roughness

D) To measure dimension of oval job

158) a&heiTd & dl-selleh BT 3622 T G2

A) T /ATATPR g Bl U g -l
B) Sig TR TR &1 ATYA]

C) T8 BT GREIUA ST
D) 3igepR Sifd T TITH |9

159) Why is a Hydraulic system more accurate when compared to pneumatic system?

A) Hydraulic oil is less compressible
B) Hydraulic oil is more compressible
C) Less oil leakage

D) More oil leakage

159) raAiTRI(TATH) Jomel & T & gaaoid(gTesitois) TuTel 31Tt T F4i 62

A) gaarfora( erssifod) ad & 95T §
B) ga=nfora( eresifore) dd e sy §
C) »u dd Rama

D) 31fres dd Rama

160) Which below mentioned category does vane pump belong to?

A) Reciprocating positive displacement pump
B) Rotary positive displacement pump

C) Linear type positive displacement pump
D) Linear type negative displacement pump
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160) 12 3feaf@d Aol 9§ 39 UU § g&fig 32

A) JeTeTTHT ThRTcHS [aEdTdsT 4U

B) quff gerRTese fawama= uu

C) NAIR-CIRY HFRIcAS AT Uy
D) Sferae-cI8y sehRicHe faeamdsr Uy

161) A BOM refers to the list where the relationships among items like product and its assemblies,
assemblies and their parts, parts and their raw materials are indicated. What does BOM stand for?

A) Bill of Maintenance
B) Billing of Machines
C) Bill of Materials

D) Bill of Mechanics

161) BOM JH Y Pl & Td Bl ¢ STel 3c1a SR SHD 3R, el S b HIT, #7193
3 e HIC OIY FTHATEAT & sitd Y Bl 2T § 1 BOM &1 qoied 3T 672

A) frer ST deaig

B) fafolar 3iTth eie
C) fyer 311t HeRarer
D) faer 3iith Ao

162) Shear stress acting on the principal plane is

A) One
B) Two
C) Three
D) Zero

162) &I JHAE UR HRXA IJTEI0T Gfdaer fhcaTr 62

A) T
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B) &y
C)diH
D) ger

163) What kind of stress is induced in a body, when deformation due to temperature variation is
prevented?

A) Volumetric stress
B) Bending stress
C) Thermal stress
D) Shear stress

163) I YA # SGaAld & BRUT fFEI0T DI ATl & o) [vs 7 fFa R Bl afase(@ed) IRkd
I 87

A) SacT faerer
B) d gfaerer
C) g gfaerer
D) srqwqor gfdser

164) Which of the following gears is used to transmit power in cars from driver shaft to driven shaft
when axes are perpendicular and intersecting?

A) Spur Gear
B) Bevel Gear
C) Helical Gear
D) Worm Gear

164) e=rfaf@a F  HF 1 IRR, IA® eme § =rferd e a% HRT H T afad gaid s
& TorT ygerdT ToRaT SITAT & Od 3787 oreaiadl SR Yidsdeet PId 82

A) TR IR
B) 99d e
C) trefremer e
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D) 73 o

165) Heat Supplied during change in enthalpy of a system is of

A) Constant Pressure process

B) Constant Temperature process
C) Constant Volume process

D) Constant Entropy process

165) TP JUTTElY 1 AU el & GRaeT & GRI 3SAT SHTYfed

A) fEer SaTd #r 9fFaT 8
B) feer dTUHH ufkar @
C) feeR 3TTd Uik &
D) feeRr seshe-HIT A7 Terd fhar g

166) Who among the following introduced the First law of thermodynamics?

A) Charles
B) Carnot
C) Joule
D) Einstein

166) et 7 ¥ fohget FSATIAET BT UG AT T fohaT U172
A) e

B) afeife

C)\—,Ef

D) smgeéie

167) Which one of the following is a solid of revolution?

A) Prism
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B) Pyramid
C) Cylinder
D) Plane

167) fre=ifaf@a & § S I1 asraoT 1 TP 31 82

A) Rrsa
B) ’fas
C) §a=
D) Taa

168) Where do we draw the side view of an object?

A) Horizontal Plane

B) Vertical Plane

C) Left Profile Plane or Right Profile Plane
D) Both the Horizontal and Vertical Planes

168) BH fohel aEd & A3y Pl halWldd &7

A) &ifasr gadd &

B) 3eaTer SHdd

C) I Srwrser IHAA T GIU NhISe JHAT H
D) gyt &ifaet 3R stater Hder &

169) What happens during quenching process?

A) Temperature increases

B) Hardness remains constant
C) Hardness decreases

D) Hardness Increases

169) XA 9fFHaT & SR &7 BIdT 872
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A) qYAH §¢ STdT §
B) aRam feer 5t 8
C) HERATHH I 9Tl §
D) ®aRd19¢ Sl §

170) Generally which method is used for cooling in annealing process?

A) Air cooling

B) Liquid coolant method
C) Water cooling

D) Furnace cooling

170) A TIE I TATNT TT0AT | fraere o for o fater 1 ST R Strar g2

A)WW
B) ferfare et fafd)
C)Wfﬁ'ﬂ
D) seter T

171) The main purpose of reaming operation is to obtain:

A) Smoothly finishing and accurately sizing a drilled hole
B) Tapping and sizing of a existing hole

C) Tapering of existing hole

D) Decreasing the size of existing hole

171) QFFT F BT T 3T T UTed BRI 82

A) faer T 7T B &7 Teoldl § AT 3R Géiedr ¥ STHR §-H]
B) mi[al g HTale 3R SHTHIIM

C) hrotar 3 4 Eafter

D) #Hisa19a & MR DI HH BT
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172) Which of the following instruments is used to find the effective thread diameter?

A) Vernier caliper

B) Thread Micrometer
C) Micrometer

D) Steel rule

172) GHTEY I8 TTH B AT B & v fovet 3 F S T SUGUISANT fawar Sl 32

A) afeer Hela
B) 95 ArsHhIdex
C) argeniatiex
D) e w1

173) In which one of the following statements is Lami's theorem CORRECTLY defined?

A) If three forces acting at a point are in equilibrium, each force is proportional to the sine of the
angle between the other two

B) Three forces acting at a point will be in equilibrium

C) Three forces acting at a point can be represented by a triangle, each side being porportional
to forces

D) The three forces acting upon a particle are represented in magnitude and direction by the
sides of a triangle

173) A faf@d H=T 7 T S I A & 93T B! & e T aReig HRdl 872

A) o T fig R SRR I 9 e & §, Tl 9c3e 9 8- &l & i<l & DI & g b
STuTfares BT &

B) T fiig TR v o et Wele # gy

C) T g IR SRR A el Bl TP M7 g@RT y&dqd R S bl § Toreh! Yedsh Yol et &
T §

D) & HU IR FERRY T Teit I Th eyt Hr Holsf earT I AfFaeys 3R 2 garr gaufar
STl ©
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174) For a uniform lamina of general cross section like square, rectangle, the location of centre of
gravity is

A) at the mid point of its diagonals
B) at the corners

C) at the mid point of its height

D) at the mid point of its base

174) 397, 3T S WA i VeI B Uh GHM AfRAT & [T, T[ocarehsoT dhe; BT €T BBl 51l
87

A) g Rt 5 e Rig R
B) st TR

C) st SaE S 7e fig W
D) 39ds 3M4R & st fiig W

175) What does a feeler gauge check?

A) Radius

B) Screw pitch

C) Clearance

D) Surface roughness

175) Ueh Hrei 7S] 7 STl 82

A) Brsar

B) & 1 g

C) sieRrelr

D) 9% &1 WU

176) How is sinebar specified?

A) By total length of the sine bar
B) The centre distance between the two rollers
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C) By size of the roller
D) Weight of the sinebar

176) TR &1 HY fAfEse frar ST g2

A) T3 SR T el aTs o
B) QI et & o &gy HT g
C) IR & SHHR @RI

D) 9181 SR & a9 garr

177) In pneumatic system the main function of throttle valve is to convert

A) High pressure fluid to low pressure fluid
B) Low pressure fluid to high pressure fluid
C) High velocity fluid to low velocity fluid
D) High density fluid to low density fluid

177) e vomre 7 YW Yieer) ared HTHET R e & ¥ a7 aRafda &1 62

A) 3T Gd1d & IR Dl HH GaId & IR & IRafdd B
B) &H Gd1d & IR Dl 3= Ga1d & dRdl 7 IRafdd HRAl
C) 3= 371 & IR B HH A7 & aRdl & gRafdd A1

D) 3=a geica & dRA I HH Gelcd P aRdl H gRafdd dAl

178) What is the main purpose of using baffle plate in hydraulic oil tank?

A) To support the tank structure

B) To differentiate incoming and outgoing oll
C) To prevent generation of air bubbles

D) To prevent leakage

178) gaafoId( gTegifoeh) At ¢ & Il Toe BT JUTNT B B Y& 36837 FT 67
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A) & TEAT B FERT &1

B) 3iTae R faciaret ddl 3 3 Al
C) a1 & geieel & S Bl

D) frama 1 A

179) Which file contains list of the single level components and quantities needed to assemble a
parent item?

A) Product structure file
B) Item master file

C) Routing file

D) Work center master file

179) et 3 § D T BISa 3 37 Uhd TadT 9 SR A3 DI R R Sl & ol U o ae]
1 G PRA B foIT 32T 52

A) Fcare TTHT BIsd
B) ageH AR WIsd
C) fear i

D) a& dex Areex I

180) The Poisson's ratio for steel varies from

A) 0.23 to 0.27
B) 0.17 to 0.20
C) 0.27 t0 0.30
D) 0.32 to 0.42

180) Tl & forT cardit SfTUTd &Y BetdT fhcel Bldil & 2

A) 0.23 t0 0.27
B) 0.17 to 0.20
C) 0.27 t0 0.30
D) 0.32 to 0.42
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181) Hoop stress for a thin cylindrical vessel subjected to an internal fluid pressure is equal to

A) o = pd/4t
B) o = pd/2t
C) o = pd/8t
D) o = pd/t

181) 37T TR TgTe B Galld & 3t Teb Udel SR 917 & forw 8 wicrerer fress sRISR Bl 82

A) o = pd/4t
B) o = pd/2t
C) o = pd/8t
D) o = pdit

182) What are Kinematic Pairs?

A) Minimum Instantaneous Centers

B) Two elements having relative motion

C) Two elements having no relative motion
D) Two elements held together mechanically

182) YeeT TR (IAAATCH) SIS T &2

A) FgIdH dTcahifers sha

B) @ndfeyes a1fay a1dl &l aear

C) € aea et amafares arfey w11 &

D) ziifyes ¥ I T 1Y SIS &l dead

183) The change in internal energy of a gas is a function of temperature. This statement is also
known as

A) Charle's Law
B) Joule's Law

C) Regnault's Law
D) Boyle's Law
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183) 1Y &1 3TaRes Foit & IR, AYHH H1TH Yo 8, 39 HYF &1 39 &9 & 1 ST S

A) Tred &l s
B) STat o1 vz

C) {aritee ol faas
D) siga &1 s

184) Which among all possible cycles of heat engines achieves the maximum efficiency?

A) Rankine
B) Stirling
C) Carnot
D) Joule

184) FvAT gui & GHI Tenfad weht & ¥ ReAfar@d ¥ U 75T g5k aRT 3ifAsha gaTdr ured & Sl
&7

A) bt
B) wefoter
C) Fisife
D) et

185) How many number of faces are there in Dodecahedron?

A) 4
B) 8
C) 12
D) 16

185) eaTeRIhels 3 fohdel BhaIh BId &7

A) 4
B) 8
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C) 12
D) 16

186) Assume a line AB of length 100 mm which is in first quadrant and is parallel to HP and
perpendicular to VP, then we can find the true length of the object in

A) Front View

B) Top View

C) Both Top and Front View
D) Not possible to find

186) AT SNFSTT ok 100 mm o= TP 3AT AB STt Ugcl Aqfer  § SR HP & §HMIdR 8 IR VP &
Tad &, Al §H ¥ &I arEdiaeh Odls Hol al gavd 87

A) the o F

B) clucg aF

C) <fa 3R the =g alt &
D) urr ¥ya =gt §

187) What happens to Hypoeutectoid steel after cooling during annealing process?

A) Converts to Pearlite
B) Becomes Cementite
C) Becomes Iron

D) Converts to Austenite

187) TAIforer 9fdhar & GRIF 8T8 & d1C gI3UNIcaeras Téred Pl aaT aIdl 672

o

A) Rirefise 3 aRafda gdr g
B) ieferse & ST @

C) AigT & WraT 8§

D) sfteesree # uRafda gidr g

188) Which one of the following tool is used to remove the drill bit from the drill chuck ?
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A) Centre punch
B) Chuck key
C) Dot punch
D) Chuck driver

188) f3er e A f2et TP B geM & forw et & Q D I 3SR IUTNT far ST 82
A) dex U9

B) 9& &1

C) gfectq

D) 9 grgay

189) Which of the following is the finishing operation to produce a flat round surface around
already drilled hole?

A) Counterboring
B) Spoting

C) Countersinking
D) Trepanning

189) fre=Tfaf@a & ¥ I I1 Ugd I f3el 3T T B¢ & YU Th JUTE Td T Bl [HATT A &
forT afsentor U7 R SITIRTA g2

A) a5ecalRy

B) gmiféar

190) What is the function of LVDT?

A) It converts stresses to force
B) It converts linear displacement to electrical signal
C) It converts energy to electrical signal
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D) It converts stress to electrical signal

190) LVDT ST & 4T 82

A) 78 gttt &1 9 & TRafid HRd18

B) 11 { e faramer 1 Rieyd Tabd 3 aRafda oxaT g
C) ug it 3 fegd Tabd & uRafid HaT 3

D) 71 wftrerer ! faed Tabd #F uRafia HRal g

191) Ratio of total flux to useful flux in a magnetic circuit is

A) Form factor

B) Depression

C) Utility

D) Leakage factor

191) U Feehrg aRT & B Forerd o IUAN Fereray BT SUTA 2T BTSN 57

A) wia therex
B) f2oers

C) gfefads

D) herst tharex

192) What kind of energy is possessed by the wheel of a moving car?

A) Kinetic energy of translation only

B) Kinetic energy of rotation only

C) Potential energy only

D) Kinetic energy of translation and rotation

192) T Tadl g3 R P Ueb Ufew 3 forer ARG 1 Fratt Bl 82
A) SHad TR TSl FatT
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B) dact gHA r a1fast et
C) daet Feafarst st
D) Ferreiiafer iR qFR B a1farst Tt

193) Identify the optical strain gauge from the following options.

A) Unbonded wire strain gauge
B) Bonded wire strain gauge

C) Marten’s and Tuckerman strain gauge
D) Foil strain gauge

193) fFfaf@d [Aehedt 3 T 3iiCeahe Tt 151 &7 UgdH HiferT|

A) 37AdT033 GRR T TSl
B) sfugs arR &= 719

C) Aréar 3R TaRd €et ol
D) wiea e 9

194) What is the position of Pressure line filter?

A) Just Before pump
B) Just After pump

C) At the end of circuit
D) Between two DCVs

194) YRR TS Rhoed BT EATT DI AT 62

A) 1T § S Ugd
B) 4u & &1 ST
C) afger & 3id &
D)dIDcvs & o9 &

195) In production planning which is the preliminary stage?
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A) Product development and design
B) Capacity planning

C) Material requirement planning

D) Scheduling

195) 3cqTesT TASHT # YR TRV HIF 1T 872

A) 3cure o1 faera 3R et
B) eterar A

C) @reraft 3maezehar Aol

D) rggferar

196) Which of the following aspects of product is concerned with the efficiency of the product
performance?

A) Functional aspect
B) Operational aspect
C) Durability aspect
D) Aesthetic aspect

196) fAFATafAT & ¥ 3cure BT B H UG 3cuTe fsuresT i gaTdm ¥ Tefid 87

A) Fraicae e
B) aftarers vet
C) wenfeg uer

D) shetreses wet

197) What is the magnitude of shear stress in the center of a shaft subjected to twisting?

A) Zero

B) One

C) Less than One
D) Infinity

Page820f85



Setld : 61787 3 Technical Assistant (LAB) - Mechanical BATCH2 180CT2020

197) RIS P A e & g & 19wI0T SfdTer BT IRHATT fhdaAT 81T 87

A) =

B) t
C)uwsd &H
D) sFa

198) Which of the following mechanisms produces mathematically an exact straight line motion?

A) Chebyshev linkage

B) Watt Mechanism

C) Peaucellier's Mechanism
D) Grasshopper Mechanism

198) frAfaf@a & Q B T A ferstest T 9fHaT ATNT §9 I TH GélF I W a1fd 3cqeet
HIA1 8?2

A) afdega folehet

B) a1 A+ faea

C) Rrafenr dAsfasa
D) st S faea

199) How many links are there in Hart mechanism?

A) 8
B) 4
C) 12
D)6

199) &€ HAhfaeH # fhaa fole BId &7

A)8
B) 4
C) 12
D) 6
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200) Highest calorific value of coal is found in

A) Anthracite
B) Bituminous
C) Lignite

D) Peat

200) BT BT 3Tacs ST A (FAiRther deg) forael Ur SITdT 82
A) T=d ST
B) g

C) Rarse
D) dte

Page840f85




- Mechanical BATCH2 180CT2020

Technical Assistant (LAB)

Set Id : 61787 3

61787 3

Question Paper No:

Answer Key:

— NN | T (O |oSD|—[AN|n|TT| n| ©O (-0 | D
=22 E2E 22 2|5|5|8|82]82]5|8| 88
<A<l <lAd<|<R0AlD|A<|O|D|DIAIAIC<m|C|C|OM|C|O|I<L|O
— N N [ T V| O |0 N[~ 0 | FT (OO0 D[S AN N | T | OO0 O
AR A 0 o B TR el Aol el el R R
OlMOID|AAM|<AA|CAIARIAILIAILID|IANILRIg| D<Al <|<
— N N[ T | O |0 N[~ T V| OO0 N[O~ AN | T |O|~|0|N| O
Fagjgjgigigigig|igicieicicieiecicige | 3 T I e
MAIOIAIAlO|< Al |ILDAlC|l<|lDIAIAIAIC|C|Cl ARl Al<| O
— NN | T | OO0 DD | VAN T V| OO Q| OOV DN N T N[O |0 O
=885 R\BIEISIEISISIS|S|E|8|8|2 (2|2 |2|2|2|5| 2|28
mi<lAloAp|d<lA<lo|<AARI<LMO|I<|lOAAm < AAmAl<| 0|0
— N[N | T V| O || QN[O || N | T V| O |0 QN[NNI wn | OI>|0| | O
ol BNl I NN BN ENo R I =1 IR EENoR B ot BN e I e e e B B i B i B o B el e o I e ol (e " I e o Il e o I e o B e ol Iie o I} I e ol e o BN @)
Mg <|<|AAR<AA| <000 |AID|IAMMIAC|ID|lOIMAMMMO|IL /|
— NN | <t | OO0 QN S|~ AN [TV | O Q| SD[ VAN N FT VO |0 O
Vi< <|O|<<C|IAIAA|D ||| Al<A|C|<C|lO|lAI<AlLDIAlAl<A
— N[N | T DN | O | N[0 N[O~ AN N | ST Tn|O |0 QN[O NN T n | O >0 O
—_— | e e | e | e [ e e [ e [ | NN N N[ AN AN AN AN AN AN [N

Page850f85



